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Flat Storage & Ground Piles 
Pre-Questionnaire

Choose the ONE best answer. 

1. What is NOT a criteria of flat storage?

a. Must be a building

b. Does not empty completely by gravity

c. Unrestricted, ground level entry

d. Must enter to reclaim residual grain

2. What would not usually be a potential hazard in a flat storage space?

a. Entrapment or engulfment hazards

b. Low visibility due to dust

c. Toxic Gases

d. Fall through floor opening

3. To meet the main criteria for flat storage entry under 1910.272 paragraph

(h)  the entry must be through an unrestricted ground level opening AND

there are:

a. No engulfment hazards are present.

b. No atmospheric hazards present.

c. No entanglement hazards present.

d. No hazards present.

4. “Unrestricted means of entry” is defined as:

a. Having a door large enough to drive through

b. Can step, walk, or drive through any opening

c. Can step, walk, or drive through a ground level opening

d. Entering at or above the level of the grain
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Flat Storage & Ground Piles 
Pre-Questionnaire  
ANSWER KEY 

Choose the ONE best answer. 

1. What is NOT a criteria of flat storage?

a. Must be a building

b. Does not empty completely by gravity

c. Unrestricted, ground level entry

d. Must enter to reclaim residual grain

2. What would not usually be a potential hazard in a flat storage space?

a. Entrapment or engulfment hazards

b. Low visibility due to dust

c. Toxic Gases

d. Fall through floor opening

3. To meet the main criteria for flat storage entry under 1910.272 paragraph

(h)  the entry must be through an unrestricted ground level opening AND

there are:

a. No engulfment hazards are present.

b. No atmospheric hazards present.

c. No entanglement hazards present.

d. No hazards present.

4. “Unrestricted means of entry” is defined as:

a. Having a door large enough to drive through

b. Can step, walk, or drive through any opening

c. Can step, walk, or drive through a ground level opening

d. Entering at or above the level of the grain

www.grainsafety.org 

This material was produced under grant number SH-27664-SH5 from the Occupational Safety and Health Administration, U.S. Department of Labor. It does not necessarily reflect 
the views or policies of the U.S. Department of Labor, nor does mention of trade names, commercial products, or organizations imply endorsement by the U.S. Government.


